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Guided Notes: Solving Systems of 3 Variables
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Problem 1 Solving a System Using Elimination

What is the solution of the system? Use elimination. D (2x— y+2=4
The equations are numbered to make the procedure easy @ { x+ 3:}, -z =1]
to follow. @ lax+ y—-z= 14
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What is the solution of the system? Use elimination. ) x—2y+3z =12
@4J 2x- y-22=5
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Problem 2 Solving an Equivalent System
O x+ y+22=3 (—7.4.3)
What is the solution of the sywtiun, @ 2x+ y+32= 7
7)) @ | ==-2y+ 2=10
o Kty +12=3 D Axs+ 5y 422 =3)
) - ol - o
A X -2y F2 =10 @ 2x+ y+3r=3 — Y 2y -4z =-¢
O fxry+32=3
® “ly+32=13 !
—y-1ZE=

w

@@8) ® Y-
® -1v-lz=1

-Y+3E S

ORSRARS IS

X+ & U 3D -2
X+ =7 -4
— — |
(x=2
~”

0=

PAGEZ2 OF2 13 WORDS

-y +30) =13
=7+ =3
- = - 'f.

[¥=1/

g X

E




September 02 2014 haa.gwb - 5/5 - Tue Sep 02 2014 18:03:22

@ d M- 08 - 2.9 Systems of 3 Variables - Word T BH - x
HOME INSERT DESIGN PAGE LAYOUT REFEREMCES MAILINGS REVIEW VIEW Luke Brzostowski =
L Cut : PR 2 — 1— 1= — — | A H Find -
- Arial -8 -|A A Aa- S &= 2L T AaBbCeDe AaBbCeDe AaBbC  AaBbCel Aatj AaBbCcC AoBbCcDt AaBbCcDt b por
Copy *| sacReplace
Paste . z . akg === t=. Lo ; ; : : T
: & Format Painter B I U abc N, X g:;:, Ll A == == | =2 Q i TMormal = TMo Spac.. Headingl Heading 2 Title Subtitle Subtle Em... Emphasis |5 [33‘ Select -
Clipboard Pl Font Pl Paragraph P Styles I Editing s

Got It? Lebe :

What is the solution of the system? Use elimination. @ x=—y+ z=-1
Check your answer in all three original equations. &) x+y+ 3z
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